[ D-TPH &
REVISIONS RELEASED [ 73709711
PAINT REMOVED BOTH SIDES REV. DESCRIPTION DATE  |APPROVED
OF EITHER OF 2 OPPOSITE 10-32 UNF-2A A 10378 ADDED TO DATA 11106/21 RS
MTG. HOLES 9 STUDS 0@ B |09-021202] REDRAWN: REMOVED PLATE NAME VIEW 09/07/22 | (B
G% C [13-015193] OTY. 2 WAS | - ITEM II, WASHER-LOCK 13/09/25 | MDM
@2.88 MAX 3.13 MAX
\<—¢2‘60 MAY ————— = \
r |
i —o0———0
/ SN __lj 1HO———=~A i Iczz
'\/ ne CO—A | : c3
| i
4 AL " .
777 //II/);/;//I”///)// Blo_‘ i : B3
‘D ) ’/@ [rﬁ§ 2.000 { o .-
, 7 \\ &/ CANL, —O—i
I/“IIIIIIIIII 77777777 ////n ”/#%; ,’ 2.44 MAX — Al O_‘ : : A3
W #)\ /I//.r)\\ CF 1 O—
Ve OBSERV
= &;J J, POLARI[:I:'Y M
I D
‘. B ; -X2O——
"l’ [
TERMINAL SHIELD
CUTOUT .270 MAX.
T PLACES 0 mm VENT 6-32 UNC-2A m
CONSTRUCTION METALLIC BASE @171 HOLE 4 STUDS
GASKET SEALED (VENTED) 4 MTG. HOLES
MAIN CONTACTS 14 |1 28497-050 CONTACTOR ASSEMBLY - PRI. 6-1616218-3
CONF IGURATION 3PDT SIDESTABLE 13 |9 51810-054 LOCKWASHER, #10 SPLIT 9-1616360-2 BRONZE
VOLTAGE (NOMINAL) 115/200 VAC 400 HZ ADDITIONAL CONTACT RATING 12 4 51806-014 WASHER LOCK #6 SPLIT 1616360-7 BRONZE
60 AMP, 10 VDC IND. OR 10 | 1| 51205-391 | SCREW 5-40 X I (/8 RD. HD. 8-1616345-1 | BRASS
AUXILIARY CONTACTS 30 AMP. 20 VDC IND. 9 | 1| 51205-591 | SCREW - 5-40 X 3/8 RD. HD. 0-1616346-5 | BRASS
CONF IGURATION SPST NO 8 9 50410-054 NUT - 10-32 X 5/16 X 9/64 HEX. 9-1616338-5 BRASS
VOLTAGE 28 VDC OR 115 VAC, 400 HI. 1 4 50406-034 NUT 6-32 X 1/4 X 3/32 HEX 5-1616337-3 BRASS
CURRENT: RES. 5 AMP. (] | 19203-001 PLATE - WIRING DIAGRAM 7-1616182-9
OPERATE TIME 50 MS MAX. 5 1 17062-001 SHIELD - TERMINAL 2-16161175-5
COIL DATA RELEASE TIME 50 MS MAX. 4 | 17061-001 SHIELD - TERMINAL 2-16161175-4
DUTY CYCLE CONTINUOUS BOUNCE TIME 5 MS MAX. 3 | 17002-001 PLATE - SHIELD 1616175-1
NOM. COIL VOLTAGE 28 T0 30 VDC 2 | 16043-001 PLATE - NAME 3-1616169-5
PICKUP MAX 18 VDC VIBRATION 036 DA, 5 T0 74 HZ |! | 15537-015 PLATE - BASE COVER 5-1616165-4
DROPOUT VOLTAGE 770 1.5 VOLTS 10 6°S 74 TO 2000HZ | rimo | orr PART OR NOMENCLATURE OR ORAWING OR FScH T NATERIAL
RESISTANCE: HOLD 126 OHMS + 20% AT 25°C SHOCK CHARACTERISTIC A, NO | REOD | IDENTIFYING NO DESCRIPTION SPECIFICATION o PART NO OR NOTE
50 6°S UNLESS OTHERISE SPECIFIED [ ]
ENVIRONMENTAL DATA DINERSIONS ARE 1N (KCHES - TE
AMBIENT TEMP -55°C 70 +71°C FOLERACES On "
ALT|TUDE 50,000 FEET MAX. 2 PL DEC.|3 PL DEC.| ANGLES TR JJD 73/08/23 DI Har tman Division 175 N. DIAMOND STREET MANSFIELD, OHIO 44902
LIFE ELECTRICAL 50,000 CYCLES MIN. d.08 [d0IF | & I
LIFE MECHANICAL 100,000 CYCLES MIN. S L 21 CONTACTOR - 3PDT SIDESTABLE
WE IGHT }:‘g);E(AEST) 14 01. e —TBamtoororro>] 90 AMPS, 1157200V, 400HZ
. TERMINAL SHIELD IS NOTCHED FOR DRAINAGE. PIEE | come oewr @5{"" - D-7PH
2. MILLIVOLT DROP ACROSS ANY MAIN CONTACT WILL NOT EXCEED 200 AT A 14063
FULL RATED LOAD AFTER 50,000 CYCLES OF ELECTRICAL LOAD. SCALE I:1 [SHEET 171 REF TE PN 1-1616933-6




